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7. Bl has 120 beads.
“The beads re either ed o grecn.

Bl gives 3 of the beads 0 hisficnd.
2 o e o

Work outhow many green beads Bob now has.

(Totsl 3 marks)
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Work outhors many peopl sz aduls.

(Total 4 marks)
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Vo mustsor all your working.
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(Charlie and Jasmine share cartons of apple juce.
[ ———

USRS R—

‘Any apple juice leftin a carton atthe end of the day is used the following day.

The cost of a carton i 70p.
‘Charlie and Jasmine buy just enough cartons to lastthem for 10 days.

How much do they spend in tota for thesa cartons?
Give your answerin £
‘Show your working.
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21 Write as a single fraction in its simplest form.
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8 Mrs Mills buys 4 packs of treats for her cats, Fluff and Tigger.
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(Total for Question 2 is 3 marks)
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(Total for Question 9 is 3 marks)
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Where 2,5,  and d are iieges.
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(Total for Question 12 is 6 marks)
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The container i cylinde on op of a cone.
Tue cylnder b s of 3 sad g of .
T cone b e i of 3523 8 vercl ekt of 45

T contsiner s
The containr i hn Bled ithgrin a2 consant e

After 5 howrs he depth o e grain s 6 metes above e e of e cone.
e 9o he commer sl of

okt e v o .
T ————
You st shore alyo vorkng.

(Total for Question 23 s 5 marks)
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Giveyourfacton i s smpest form.

(CTota 6 marks)





